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PAPER-3
AG - I	 : 	Q. 1 to Q. 50
AG - II 	 :	 Q. 51 to Q. 100
AG - III	 :	 Q. 101 to Q. 150

001. If one Newton force is applied an any object

it moves 1 Meter distance in the direction of

force, then the work is called -

(A) 1 Kilo-Watt (B) 1 Horse power

(C) 1 Joule (D) None of these

002. In barograph which of the following is used

for  pressure reading -

(A) Aneroid Barometer

(B) Fortin’s Barometer

(C) Anemometer

(D) Hygrometer

001. ¶{X H$moB© dñVw 1 Ý¶yQ>Z ~b bJmZo na CgH$s

{Xem ‘| 1 ‘rQ>a Xÿar MbVr h¡ V~ hþE H$m¶© H$mo

H$hVo h¢ -

(A) 1 {H$bmodm°Q> (B) 1 Aídep³V

(C) 1 Á¶yb (D) Bg‘o§ go H$moB© Zht&

002. dm¶yXm~ boIr ‘| Xm~ ‘| nR>çm§H$ Ho$ {bE à¶moJ

{H$¶m OmVm h¡&

(A) {ZÐ>©d ~¡amo ‘rQ>a

(B) ’$mo{Q>©Z ~¡amo‘rQ>a

(C) dm¶w doJ ‘mnr

(D) AmÐ©Vm‘mnr

AGRICULTURAL CHEMISTRY AND PHYSICS



3-CA ] [ 3 ]	 [ P.T.O.

003. Dimension of frequency is -

(A) [T+1] (B) [T–1]

(C) [LT+1] (D) [LT–1]

004. Rate of momentum change is equal to

(A) Velocity (B) Acceleration

(C) Speed (D) Force

005. That makes an angle on touching surface of solid

with touching surface of liquid in contact place

inside of liquid, is that

(A) Angle of Cohesion

(B) Angle of contact

(C) Angle of Adhesion

(D) Angle of balance

006. Real depth of lake is 100 meter. If refractive index

of water is 4/3, then what is the virtual depth of

lake.

(A) 75 meter (B) 70 meter

(C) 60 meter (D) 65 meter

007. Which of the following say is true in relation with

agriculture?

(A) Both dew and frost are beneficial

(B) Both dew and frost are harmful

(C) Dew beneficial and frost harmful

(D) Dew harmful and frost beneficial

008. If length of bacteria is 1 micron, then how many

bacteria will be in 1 meter length?

(A) 10–6 (B) 105

(C) 106 (D) 10–5

003. Amd¥{Îm H$s {d‘m h¡&

(A) [T+1] (B) [T–1]

(C) [LT+1] (D) [LT–1]

004. g§doJ-n[adV©Z H$s Xa ~am~a hmoVr h¡&

(A) doJ (B) ËdaU

(C) Mmb (D) ~b

005. Ðd Ho$ AÝXa gånH©$ ñWmZ na Ðd Ho$ ñneu¶ Vb

Ho$ gmW R>mog H$m ñneu¶ Vb Omo H$m|U ~ZmVm h¡,

dh h¡&

(A) gg§OZ H$moU

(B) ñne© H$moU

(C) Amg§OZ H$moU

(D) g§VwbZ H$moU

006. EH$ Prb H$s dmñV{dH$ JhamB© 100 ‘rQ>a h¡& ¶{X nmZr

H$m AndV©Zm§H$ 4/3 hmo Vmo CgH$s Am^mgr JhamB©

hmoJr&

(A) 75 ‘rQ>a (B) 70 ‘rQ>a

(C) 60 ‘rQ>a (D) 65 ‘rQ>a

007. {ZåZ{b{IV ‘| go H$m¡Z-gm H$WZ H¥${f Ho$ gå~ÝY ‘|

gË¶ h¡&

(A) Am|g VWm nmbm XmoZm| bm^Xm¶H$ h¡§&

(B) Am|g VWm nmbm XmoZmo§ hm{ZH$maH$ h¡§&

(C) Am|g bm^Xm¶H$ VWm nmbm hm{ZH$maH$ h¡&

(D) Am|g hm{ZH$maH$ VWm nmbm bm^Xm¶H$ h¡&

008. EH$ OrdmUw H$s bå~mB© 1 ‘mBH«$moZ h¡, 1 ‘rQ>a bå~mB© ‘|

{H$VZo OrdmUw hm|Jo&

(A) 10–6 (B) 105

(C) 106 (D) 10–5
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009. Formula for converting  temperature from Celsius

scale to Fahrenheit scale used is -

(A) X°C = (9x / 5 +32)°F

(B) X°C = (9x / 5 –32)°F

(C) X°C = (9x / 3 +32)°F

(D) X°C = (9x / 5 *32)°F

010. For Healthy eyes minimum distance of clear

vision is -

(A) 25 meter (B) 20 meter

(C) 25 cm (D) 20 cm

011. Escape velocity of a planet having mass M and

Radius R is

(A)	 /GM R2

(B)	 /GM R

(C)	 /GM R3

(D)	 /GM R3

012. 20 parts of a vernier scale are equal to 19 parts of

the main scale. If there is 10 parts in 1 cm on the

main scale, then vernier least count is

(A) 0.5 cm

(B) 0.005 cm

(C) 0.0005 cm

(D) 0.05 cm

013. Unit of Coefficient of thermal conductivity in

MKS is

(A) Joule /m2 (B) Watt /m2

(C) Joule /m–s–°C	 (D)	 Watt /m–°C

009. gopëg¶g n¡‘mZo na Vmn H$mo ’$m°aoZmhmBQ> n¡‘mZo Ho$ Vmn

~XbZo Ho$ {bE gyÌ h¡-

(A) X°C = (9x / 5 +32)°F

(B) X°C = (9x / 5 –32)°F

(C) X°C = (9x / 3 +32)°F

(D) X°C = (9x / 5 *32)°F

010. ñdñW ZoÌ Ho$ {bE ñnîQ> ÑpîQ> H$s Ý¶yZV‘ Xÿar h¡&

(A) 25 ‘rQ>a (B) 20 ‘rQ>a

(C) 25 go‘r (D) 20 go‘r

011. Ðì¶‘mZ M VWm {ÌÁ¶m R Ho$ J«h go nbm¶Z doJ

hmoJm&

(A)	 /GM R2

(B)	 /GM R

(C)	 /GM R3

(D)	 /GM R3

012. EH$ d{Z©¶a n¡‘mZo Ho$ 20 ^mJ ‘w»¶ n¡‘mZo Ho$ 19 ^mJm|

Ho$ ~am~a h¡& ¶{X ‘w»¶ n¡‘mZo na EH$ go‘r. ‘| 10 ImZo

hm| Vmo d{Z©¶a H$s AënV‘m§H$ hmoJr

(A) 0.5 go‘r

(B) 0.005 go‘r

(C) 0.0005 go‘r

(D) 0.05 go‘r

013. Cî‘r¶ MmbH$Vm JwUm§H$ H$m MKS nÕ{V ‘| ‘mÌH$

h¡

(A) Oyb / ‘r2 (B) dm°Q> / ‘r2

(C) Oyb / ‘r. go.–°C	 (D)	 dm°Q> / ‘r.–°C
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014. Centrifugal force is -

(A) Electrical force

(B) Angular velocity

(C) Nuclear force

(D) Imaginary force

015. Which of the following has lowest wavelength -

(A) Ultraviolet Rays

(B) Infrared Rays

(C) Gamma Rays

(D) Red Rays

016. If weighing a mass with an uneven side, alternately

weighting 64 gram and 49 gram on the two layers

then the actual weight of the mass-

(A) 56 gram (B) 55 gram

(C) 54 gram (D) 58 gram

017. Flush System is based on which principle -

(A) Force pump

(B) Lifting pump

(C) Common pump

(D) Siphon

018. If the reflective surface of two plane mirrors is

at 45 angle then the number of images of the

burning candle between them will be -

(A) 8 (B) 7

(C) 6 (D) 5

014. AnHo$ÝÐ ~b h¡

(A) {dÚwVr¶ ~b

(B) H$moUr¶ doJ

(C) Zm{^H$s¶ ~b

(D) H$mën{ZH$ ~b

015. {ZåZ ‘| go {H$gH$s Va§JX¡Ü¶© g~go H$‘ h¡

(A) nam~¡JZr {H$aU|

(B) Ada³V {H$aU|

(C) Jm‘m {H$aU|

(D) bmb {H$aU|

016. ¶{X EH$ Ag‘mZ ŵOmAm| dmbr Xmof¶w³V Vwbm Ûmam EH$

{nÊS> H$s Vm¡b ~mar-~mar go XmoZm| nb‹S>mo na aIZo go 64 J«m‘

VWm 49 J«m‘ AmVr h¡ Vmo {nÊS> H$s dmñV{dH$ Vm¡b h¡-

(A) 56 J«m‘ (B) 55  J«m‘

(C) 54  J«m‘ (D) 58  J«m‘

017. âbe {gñQ>‘ {H$g {gÕmÝV na H$m¶© H$aVm h¡&

(A) ~b nån

(B) CËWmnH$ nån

(C) gmYmaU nån

(D) gmB’$Z

018. ¶{X Xmo g‘Vb Xn©U Ho$ namdV©H$ n¥îR> 45 Ho$ H$moU na hm|

Vmo CZHo$ ~rM ObVr ‘mo‘~ËVr Ho$ à{V{~å~m| H$s g§»¶m

hmoJr&

(A) 8 (B) 7

(C) 6 (D) 5
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019. Focal length of any simple microscope lens is

5 cm, then find the magnifying power of lens

(A) 5 (B) 7

(C) 4 (D) 6

020. What happens at the time of lunar eclipse?

(A) 	�The moon, sun and earth are located in the

triangle

(B) 	�The earth is located between the moon and

sun

(C) 	�The sun is located between the moon and

earth

(D) 	�The moon is located between the earth and

sun.

021. If latent heat of ice melting is 80 kilo calories /

kg. Find out how much heat will be required to

convert 150 gm of ice to without changing the

temperature to 0°C into water -

(A) 8 Kilo Calories	 (B)	 10 Kilo Calories

(C) 9 Kilo Calories	 (D)	 12 Kilo Calories

022. Unit of Acceleration is

(A) Meter / Second2	 (B)	 Meter / Second

(C) Meter2 / Second	 (D)	 Newton’s / Meter

023. If time period of any vibrating object is 0.05

second, then find the frequency of shaking object-

(A) 15 hertz (B) 25 hertz

(C) 10 hertz (D) 20 hertz

019. {H$gr gab gyú‘Xeu Ho$ boÝg H$s ’$moH$g Xÿar 5 go‘r h¡

BgH$s AmdY©Z j‘Vm hmoJr&

(A) 5 (B) 7

(C) 4 (D) 6

020. ny{U©‘m H$s am{Ì H$mo MÝÐJ«hU Ho$ g‘¶ hmoVm h¡

(A) MÝÐ‘m, gy¶© Am¡a n¥Ïdr {ÌH$moU ‘| pñWV hmoVo h¢&

(B) MÝÐ‘m Am¡a gy¶© Ho$ ~rM n¥Ïdr pñWV hmoVr h¡&

(C) MÝÐ‘m Am¡a n¥Ïdr Ho$ ~rM gy¶© pñWV hmoVm h¡&

(D) n¥Ïdr Am¡a gy¶© Ho$ ~rM MÝÐ‘m pñWV hmoVm h¡&

021. ~’©$ Ho$ JbZ H$s Jwá D$î‘m 80 {H$bmo H¡$bmoar / {H$J«m

h¡& kmV H$s{OE {H$ 150 J«m‘ ~’©$ H$mo {~Zm Vmn ~Xbo

0°C na Ob ‘| n[ad{V©V H$aZo Ho$ {bE {H$VZr Cî‘m

H$s Amdí¶H$Vm hmoJr

(A) 8 {H$bmo H¡$bmoar	 (B)	 10 {H$bmo H¡$bmoar

(C) 9 {H$bmo H¡$bmoar	 (D)	 12 {H$bmo H¡$bmoar

022. ËdaU H$m ‘mÌH$ hmoVm h¡&

(A) ‘rQ>a / goH$ÊS>2	 (B)	 ‘rQ>a / goH$ÊS>

(C) ‘rQ>a2 / goH$ÊS>	 (D)	 Ý¶yQ>a / ‘rQ>a

023. H$ånZ H$aVr {H$gr dñVw H$m AmdV© H$mb 0.05 goH$ÊS>

h¡ dñVw Ho$ H$ånZ H$s Amd¥{Îm kmV H$s{OE&

(A) 15 hQ²>©O (B) 25 hQ²>©O

(C) 10 hQ²>©O (D) 20 hQ²>©O
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024. Time period of second’s pendulum is

(A) Infinite (B) 2 Second

(C) 7.2 Second (D) 1 Second

025. The dry and wet bulb of hygrometer is 11°C and

9°C respectively, if glacier coefficient at 11°C is

2.02, then value of dew point is -

(A) 6.66°C (B) 6.76°C

(C) 6.96°C (D) 6.86°C

026. Hydrochloric acid change blue litmus to

(A) Yellow (B) Red

(C) Black (D) None of these

027. NaOH or KOH dissolve in water gives -

(A) OH– (B) H+

(C) OH– or H+ (D) None of these

028. Number of bond in nitrogen molecule is

(A) 2 (B) 4

(C) 1 (D) 3

029. Which one of the following is the allotropic of

sulphur

(A) Alpha Sulphur	 (B)	 Bita Sulphur

(C) Colloidal Sulphur	(D)	 All of above

030. Starch with iodine give color

(A) Yellow (B) Blue

(C) Brown (D) Black

024. goH$ÊS> bmobH$ H$m AmdV©H$mb hmoVm h¡&

(A) AZÝV (B) 2 goH$ÊS>

(C) 7.2 goH$ÊS> (D) 1 goH$ÊS>

025. ewîH$mÐ© ~ë~ AmÐ©Vm‘mnr Ho$ gyIo VWm Jrbo ~ë~ H$m

Vmn H«$‘e… 11 °C Am¡a 9 °C h¡& ¶{X 11°C na ½bo{e¶a

H$m JwUm§H$ 2.02 hmo Vmo Amogm§H$ H$m ‘mZ hmoJm-

(A) 6.66°C (B) 6.76°C

(C) 6.96°C (D) 6.86°C

026. hmBS´>mo³bmo[aH$ Aåb Zrbo {bQ>‘g H$mo H$a XoVm h¢-

(A) nrbm (B) bmb

(C) H$mbm (D) BZ‘| go H$moB© Zht

027. NaOH ¶m KOH Ob ‘| KwbH$a XoVm h¡

(A) OH– (B) H+

(C) OH– VWm H+ (D) BZ‘| go H$moB© Zht

028. ZmBQ´>moOZ AUw ‘| ~ÝY H$s g§»¶m hmoVr h¡

(A) 2 (B) 4

(C) 1 (D) 3

029. {ZåZ{b{IV ‘| H$m¡Z EH$ JÝYH$ H$m Anaê$n h¡?

(A) Aë’$m JÝYH$ (B) ~rQ>m JÝYH$

(C) H${bb JÝYH$ (D) Cnamo³V g^r

030. ñQ>mM© Am¶moS>rZ Ho$ gmW a§J XoVm h¡

(A) nrbm (B) Zrbm

(C) ^yam (D) H$mbm
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031. Essential component of organic compound is -

(A) C, H and K (B) C, H, O and S

(C) C, H and P (D) C and H

032. When 0.24 gm metal is heated in oxygen it gives

0.4 gm oxide then equivalent weight is

(A) 6 (B) 12

(C) 1.2 (D) 16

033. Which one is not acid of phosphorus?

(A) Ortho Phosphoric Acid

(B) Pyro Phosphoric Acid

(C) Meta Phosphoric Acid

(D) Phosphate Fertilizer

034. Which one of the following is not Mono-Atomic

(A) Na (B) Ag

(C) N2 (D) Au

035. Hydrochloric acid gives precipitate with silver

nitrate is -

(A) Silver Chloride

(B) Calcium Chloride

(C) Hydrogen Chloride

(D) Chromic Chloride

036. Amount of carbon in cast iron is

(A) Less than 2%

(B) 0.2%

(C) 2.0% to 4.5%

(D) 0.2% to 2.0%

031. H$m~©{ZH$ ¶m¡{JH$ H$m Amdí¶H$ Ad¶d h¡

(A) C, H VWm K (B) C, H, O VWm S

(C) C, H  VWm  P (D) C  VWm H

032. 0.24 J«m‘ YmVw Am°³grOZ ‘| J‘© H$aZo na 0.4 J«m‘

Am°³gmBS> XoVm h¡, YmVw H$m Vwë¶m§H$s ^ma hmoJm

(A) 6 (B) 12

(C) 1.2 (D) 16

033. Bg‘| H$m¡Z EH$ ’$mñ’$moag H$m Aåb Zht h¡&

(A) AmWm}-’$mñ’$moag Aåb

(B) nmBamo-’$m°ñ’$mo[aH$ Aåb

(C) ‘oQ>m - ’$mñ’$mo[aH$ Aåb

(D) ’$m°ñ’o$Q>r Cd©aH$

034. {ZåZ{b{IV ‘| go H$m¡Z EH$ - na‘mUwH$ Zht h¡&

(A) Na (B) Ag

(C) N2 (D) Au

035. hmBS´>mo³bmo[aH$ Aåb {gëda ZmBQ´>oQ> Ho$ gmW Adjon XoVm

h¡

(A) {gëda ³bmoamBS>

(B) H¡$pëe¶‘ ³bmoamBS>

(C) hmB©S´>moOZ ³bmoamBS>

(D) H«$mo{‘H$ ³bmoamBS>

036. T>bdm° bmohm ‘| H$m~©Z H$s ‘mÌm hmoVr h¡&

(A) 2 à{VeV go H$‘

(B) 0.2 à{VeV

(C) 2 à{VeV go 4.5 à{VeV

(D) 0.2 à{VeV go 2.0 à{VeV
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037. According to Avogadro’s hypothesis, the number

of ……………. is same in the same volume gases 

on the same temperature and pressure

(A) Molecule

(B) Both Molecule and Atom

(C) Atom

(D) None of these

038. Reaction of oil and fat with sodium salt is called

(A) Emulsification	 (B)	 Hydrogenation

(C) Bleaching (D) Saponification

039. Dry Distillation of calcium acetate is results as

(A) Formaldehyde	 (B)	 Acetone

(C) Ammonia (D) Alcohol

040. Bones are made up of -

(A) Calcium Phosphate

(B) Calcium Sulphate

(C) Calcium Oxide

(D) None of these

041. Structural Formula of fructose is -

(A) CH2OH (CHOH)4 COOH

(B) CH2OH (CHOH)4 CHOH

(C) CH2OHCO(CHOH)3 CH2OH

(D) CH2OH(CHOH)4 CH2OH

037. AmdmoJmÐmo H$s n[aH$ënZm Ho$ AZwgma g‘mZ Vmn VWm

Xm~ na g‘mZ Am¶VZ H$s J¡gm| ‘| .................. H$s 

g§»¶m g‘mZ hmoVr h¡&

(A) AUw

(B) AUw Ed§ na‘mUw XmoZm|

(C) na‘mUw

(D) Bg‘| go H$moB© Zht

038. Vob Ed§ dgm H$m gmo{S>¶‘ bdUm| Ho$ gmW A{^{H«$¶m

H$hbmVr h¡

(A) nm¶grH$aU (B) hmBS´>moOZrH$aU

(C) {da§OZ (D) gm~wZrH$aU

039. H¡$pëe¶‘ EogrQ>oQ> Ho$ ewîH$ AmgdZ X²dmam àmßV hmoVm h¡

(A) ’$m‘}pëS>hmBS> (B) EogrQ>moZ

(C) A‘mo{Z¶m (D) EëH$mohmb

040. hS²>{S>¶m| ‘| nm¶m OmVm h¡

(A) H¡$pëe¶‘ ’$m°ñ’o$Q>

(B) H¡$pëe¶‘ gë’o$Q>

(C) H¡$pëe¶‘ Am°³gmBS>

(D) BZ‘| go H$moB© Zht

041. ’«$³Q>mog H$m g§aMZm gyÌ h¡ -

(A) CH2OH (CHOH)4 COOH

(B) CH2OH (CHOH)4 CHOH

(C) CH2OHCO(CHOH)3 CH2OH

(D) CH2OH(CHOH)4 CH2OH
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042. Which one of the following is not chemical

fertilizer?

(A) Ammonium Sulphate

(B) Carbon dioxide

(C) Sodium Nitrate

(D) Urea

043. Magnesium oxide is an example of :

(A) Valency

(B) Covalency

(C) Co-ordinate valency

(D) Electrovalency

044. Which one of the following express to alkene

(A) C5H12

(B) C4H8

(C) C3H4

(D) C5H10

045. Formula of para-dichloro benzene is -

(A)	

(B)	

(C)	

(D)	

046. When moisture and Carbon dioxide less gas

passed over heated copper, which gas is formed?

(A) Ammonia (B) Oxygen

(C) Nitrogen (D) Hydrogen

042. {ZåZ{b{IV ‘| H$m¡Z EH$ amgm¶{ZH$ Cd©aH$ Zht h¡&

(A) A‘mo{Z¶‘ gë’o$Q>

(B) H$m~©Z S>mB© - Am°³gmBS>

(C) gmo{S>¶‘ ZmBQ´>oQ>

(D) ¶y[a¶m

043. ‘¡½Zr{e¶‘ Am°³gmBS> CXmhaU h¡

(A) g§¶moOH$Vm

(B) ghg§¶moOH$Vm

(C) Cn-ghg§¶moOH$Vm

(D) d¡ÚwV g§¶moOH$Vm

044. {ZåZ{b{IV ‘| H$m¡Z EH$ EëHo$Z H$mo àH$Q> H$aVm h¡&

(A) C5H12

(B) C4H8

(C) C3H4

(D) C5H10

045. n¡am-S>mB³bmoamo ~|OrZ H$m gyÌ h¡&

(A)

(B)	

(C)	

(D)	

046. Z‘r Am¡a H$m~©Z S>mB©-Am°³gmBS> a{hV dm¶w H$mo VßV Vm±~o§

Ho$ D$na go àdm{hV H$aZo na àmßV hmoZo dmbr J¡g h¡

(A) A‘mo{Z¶m (B) Am°³grOZ

(C) ZmBQ´>moOZ (D) hmBS´>moOZ
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047. dgm Am¡a Vob BZ‘| go {H$gHo$ p½bgamBS> H$hbmVo h¢?

(A) CÀM Aåb (B) {ZåZ Aåb

(C) {ZåZ dgm (D) CÀM dgm Aåb

048. 18°C na A{VVá ^mn Ûmam H¡$pëe¶‘ gm¶Zm‘mBS> H$m

Ob AnKQ>Z H$aZo na àmßV hmoVm h¡ -

(A) CaCO3 + 2NH3

(B) CaCO3 + CaCN

(C) CaCO + 2NH3

(D) CaCO3 + CaCN2

049. Aåb amO {‘lU hmoVm h¡ -

(A) 	�Xmo ^mJ ZmB{Q´>H$ Aåb Am¡a Xmo ^mJ hmBS´>mo³bmo[aH$

Aåb H$m {‘lU&

(B) 	�VrZ ^mJ ZmB{Q´>H$ Aåb Am¡a EH$ ^mJ

hmBS´>mo³bmo[aH$ Aåb H$m {‘lU&

(C) 	�EH$ ^mJ ZmB{Q´>H$ Aåb Am¡a VrZ ^mJ

hmBS´>mo³bmo[aH$ Aåb H$m {‘lU&

(D) Cnamo³V ‘| H$moB© Zht&

050. Am°³go{bH$ Aåb H$m gyÌ h¡&

(A) COOH
|
COOH

(B) CONH2
|
CONH2

(C) COCl
|
COCl

(D) COOH
|
COONa

047. Fat and oil are called glyceroide of -

(A) High acid (B) Low acid

(C) Low fats (D) High Fatty acid

048. At 18°C water hydrolysis of calcium cynamide

by the superheated steam, which one is obtained:

(A) CaCO3 + 2NH3

(B) CaCO3 + CaCN

(C) CaCO + 2NH3

(D) CaCO3 + CaCN2

049. Aqua - regain is the mixture of -

(A) 	�Two part Nitric acid and two part

hydrochloric acid mixture

(B) 	�Three part Nitric acid and one part

hydrochloric acid mixture

(C) 	�One part Nitric acid and three part

hydrochloric acid mixture

(D) None of Above mentioned

050. Formula of Oxalic acid is

(A) COOH
|
COOH

(B) CONH2
|
CONH2

(C) COCl
|
COCl

(D) COOH
|
COONa
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051. Sugarcane breeding institute is situated at

(A) Mumbai (B) Lucknow

(C) Delhi (D) Coimbatore

052. Pointed guard is the example of

(A) Cucurbitaceae	 (B)	 Leguminaceae

(C) Malvaceae (D) None of these

053. The cell wall is made up of

(A) Fat (B) Amino acid

(C) Protein (D) Cellulose

054. Plant energy is spend more in

(A) Passive absorbtion

(B) Active absorbtion

(C) Diffusion

(D) None of these

055. Potato is a modified

(A) Root (B) Stem

(C) Leaf (D) Flower

056. Onion is a modified

(A) Root (B) Stem

(C) Leaf (D) Flower

057. TPS is related to

(A) Onion (B) Potato

(C) Garlic (D) Tomato

051. JÝZm àOZZ g§ñWm CnpñWV h¡ -

(A) ‘wå~B© ‘o (B) bIZD$ ‘o

(C) {Xëbr ‘o (D) H$moB‘~Qy>a ‘o

052. nadb CXmhaU h¡ :

(A) Hw$H$a{~Q>o{eB® (B) {bJw{‘¶o{eB®

(C) ‘mbdmeoB® (D) BZ‘o§ go H$moB® Zht

053. gob H$s Xrdma ~Zr hmoVr h¡ :

(A) ’¡$Q> H$s (B) E‘rZmo E{gS> H$s

(C) àmoQ>rZ H$s (D) {gbwbmog H$s

054. nm¡Ymo§ H$s D$Om® A{YH$ IM® hmoVr h¡ :

(A) AgH«$s¶ AdemofU ‘o

(B) gH«$s¶ AdemofU ‘o

(C) {S>â¶yOZ ‘o

(D) BZ‘o§ go H$moB® Zhr§

055. Amby EH$ n[ad{V®V ......... h¡

(A) O‹S> (B) VZm

(C) nÎmr (D) ’y$b

056. ß¶mO EH$ n[ad{V®V ......... h¡

(A) O‹S> (B) VZm

(C) nÎmr (D) ’y$b

057. Q>r.nr.Eg. g§~§{YV h¡ :

(A) ß¶mO go (B) Amby go

(C) bhgyZ go (D) Q>‘mQ>a go

AGRONOMY AND AGRICULTURAL BOTANY
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058. The female flower in maize is

(A) Tassel (B) Flower

(C) Silk (D) Arrow

059. Cabbage and cauliflower are

(A) Root crops (B) Cole crops

(C) Fibre crops (D) None of these

060. Which crop’s botanical name is Zea mays

(A) Maize (B) Wheat

(C) Lentil (D) Groundnut

061. The king of vegetables is-

(A) Ladies finger (B) Tomato

(C) Potato (D) Brinjal

062. The richest source of Vitamin C is

(A) Lemon (B) Orange

(C) Chilly (D) None of these

063. In desert areas, the common type of erosion is

(A) Water erosion (B) Land slide

(C) Wind erosion (D) None of these

064. Which irrigation method is commonly used in

Uttar Pradesh

(A) Tube well or borewell

(B) Canal

(C) Small canals

(D) None of the above

058. ‘³H$m ‘| ‘mXm ’y$b H$mo H$hVo h¡

(A) Q>gob (B) ’y$b

(C) {gëH$ (D) E¡amo

059. nÎmmJmo^r Am¡a ’y$bJmo^r h¢

(A) O‹S> ’$gb| (B) H$mob ’$gb|

(C) aoeoXma ’$gb| (D) BZ‘| go H$moB® Zht

060. {H$g ’$gb H$m d¡km{ZH$ Zm‘ {O¶m ‘oO h¡ :

(A) ‘³H$m (B) Johÿ±

(C) ‘gya (D) ‘±yJ’$br

061. VaH$mar H$m amOm h¡ :

(A) {^ÝS>r (B) Q>‘mQ>a

(C) Amby (D) ~¡JZ

062. {dQ>m{‘Z gr H$m g~go YZr lmoV h¡ :

(A) Zt~y (B) g§Vam

(C) {‘M® (D) Cnamo³V H$moB® Zhr§

063. ‘é ^y{‘ ‘| gm‘mÝ¶V… ^y{‘ jaU hmoVm h¡

(A) nmZr jaU (B) b¡ÊS> ñbmBS>

(C) dm¶w jaU (D) Cnamo³V H$moB® Zhr§

064. CÎma àXoe ‘| gm‘mÝ¶V… qgMmB® Ho$ gmYZ h¡ :

(A) Q>çw~ dob ¶m ~moadob

(B) Zha

(C) Jwëg

(D) Cnamo³V H$moB® Zhr
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065. The headquarter of ICRISAT is in

(A) Bhopal (B) Delhi

(C) Hyderabad (D) None of these

066. The deficiency of which nutrient appear as

reddish purplish spots on leaves and twigs -

(A) Nitrogen

(B) Calcium

(C) Potassium

(D) Phosphorous

067. Except Nitrogen, which element is present in

structure of chlorophyll -

(A) Zinc (B) Copper

(C) Magnesium (D) Iron

068. The good example of green manuring is -

(A) Wheat (B) Pulse

(C) Oilseed (D) Dhaicha

069. Maize is a-

(A) Short day plant

(B) Long day plant

(C) Day neutral plant

(D) None of these

070. NBRI is situated in-

(A) Delhi (B) Karnal

(C) Hyderabad (D) Cuttack

065. ICRISAT H$m ‘w»¶mb¶ h¡ :

(A) ^monmb (B) {Xëbr

(C) h¡Xam~mX (D) BZ‘| go H$moB® Zht

066. {H$g VËd H$s H$‘r go bmb-~¡JZr Yã~o n{Îm¶m| VWm

Q>h{Z¶m| na hm|Jo :

(A) ZmBQ´>moOZ

(B) H¡$b{e¶‘

(C) nmoQ>o{e¶‘

(D) ’$mg’$moag

067. ZmBQ´>moOZ Ho$ A{V[a³V ³bmoamo{’$b H$s g§aMZm ‘| H$m¡Z

gm VËd hmoVm h¡&

(A) qOH$ (B) H$mna

(C) ‘¡JZr{e¶‘ (D) bmohm

068. har ImX H$m AÀN>m CXmhaU h¡…

(A) Johÿ± (B) Xmb|

(C) {VbhZ (D) ‹T>¡Mm

069. ‘³H$m h¡

(A) emQ>® S>o ßbm§Q>

(B) bm±J S>o ßbm§Q>

(C) S>o Ý¶yQ´>b ßbm±Q>

(D) BZ‘| go H$moB® Zht

070. EZ.~r.Ama.AmB®. ñWm{nV h¡ :

(A) {Xëbr ‘o§ (B) H$aZmb ‘o§

(C) h¡Xam~mX ‘| (D) H$Q>H$ ‘o§
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071. The property of soil which cannot be changed-

(A) Soil structure

(B) Soil texture

(C) Both (A) and (B)

(D) None of these

072. The saturation condition in crops field occurs at

(A) 0 bar (B) –15 bar

(C) –  0.33 bar (D) – 48 bar

073. The mimicry weed of wheat is -

(A) Chenopodium album

(B) Celosia argentia

(C) Cyperus rotundus

(D) Phalaris minor

074. The perennial weed is-

(A) Chenopodium album

(B) Echinochloa colonum

(C) Cyperus rotundus

(D) Phalaris minor

075. In remote sensing technique, rays used are -

(A) X-rays (B) Visible rays

(C) Microwave (D) Infra-red rays

076. The red colour of tomato is due to-

(A) Lycopene (B) Carotene

(C) Xanthonene (D) None of these

071. ‘¥Xm Ho$ JwU Omo{H$ ~XbVo Zht h¡ :

(A) ‘¥Xm ñQ´>³Ma

(B) ‘¥Xm Q>o³Ma

(C) XmoZmo§ (A) Am¡a (B)

(D) BZ‘| go H$moB® Zht

072. nmZr H$s g§Vá AdñWm ’$gbr IoVr ‘| hmoVr h¡…

(A) 0  dma (B) – 15 dma

(C) –0.33 dma (D) – 48 dma

073. ZH$bMr IanVdma Johÿ± ‘| hmoVm h¡ :

(A) MoZmonmo{S>¶‘ Eb~‘

(B) {gbmo{g¶m AgmopÝQ>¶m

(C) gmBnag amoQ>ZS>g

(D) {’$bmag ‘mBZa

074. ~hþdfr®¶ IanVdma hmoVo h¢ :

(A) MoZmonmo{S>¶‘ Eb~‘

(B) BMmoZmoMbmodm H$mobmoZ‘

(C) gmBnag amoS>>ZS>g

(D) {’$bmag ‘mBZa

075. [a‘moQ> gopÝg¨J VH$ZrH$ ‘| {H$aUm| H$m à¶moJ hmoVm h¡ :

(A) E³g-ao (B) {d{O{db-ao

(C) ‘mBH«$modod (D) BZ’$am-aoS> ao

076. Q>‘mQ>a Ho$ bmb a§J H$m H$maU hmoVm h¡:

(A) bmBH$mo{nZ (B) H$mamo{Q>Z

(C) EZWmo{ZZo (D) BZ‘o§ go H$moB® Zhr§
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077. In north Indian condition (plain areas), if wheat

is grown in Kharif season then-

(1) It will have only vegetative growth.

(2) 	�It will have both vegetative and reproductive

growth

(A) Only (1)

(B) Only (2)

(C) Both (1) and (2)

(D) Neither (1) nor (2)

078. Moisture condensed in small drops upon cool

surface is called

(A) Hail (B) Dew

(C) Snow (D) Fog

079. The vertical section of soil is called as -

(A) Soil structure

(B) Soil texture

(C) Soil profile

(D) Both (A) and (B)

080. In India, about 142 million hectare land is under:

(A) Cultivation (B) Waste land

(C) Forest (D) Eroded land

081. Sprinkler irrigation is suitable, where the soil has

(A) Clayey texture

(B) Loamy texture

(C) Undulating topography

(D) All of there

077. ¶{X CÎma ^maV (‘¡XmZr joÌ) ‘| Johÿ± Iar’$ ‘m¡g‘ ‘|

CJm¶m OmVm h¡ Vmo :

(1) Ho$db dZñn{V H$s n¡Xmdma hmoJr

(2) dZñn{V VWm ~rO XmoZmo§ H$s n¡Xmdma hmoJr

(A) Ho$db (1)

(B) Ho$db (2)

(C) XmoZmo§ (1) VWm (2)

(D) (1) VWm (2) XmoZmo§ Zhr

078. R>§S>r gVh na N>moQ>r ~y±Xm| Ho$ ê$n‘o g§K{R>V Z‘r H$mo H$hVo

h¡&

(A) Amobm (B) Amog

(C) d’©$$ (D) H$moham

079. {‘Å>r H$m CÜdm©Ya go³gZ H$hbmVm h¡ :

(A) {‘Å>r H$m ñQ´>³Ma

(B) {‘Å>r H$m Q>o³Ma

(C) {‘Å>r H$s àmo’$mBb

(D) XmoZmo§ (A) Am¡a (B)

080. ^maV ‘| bJ^J 142 {‘{b¶Z ho³Q>o¶a ^y{‘ h¡…

(A) IoVr ¶mo½¶ (B) Iam~ ^y{‘

(C) O§Jb (D) ^y{‘

081. {N>‹S>H$md qgMmB© ghr h¡ Ohm± H$s {‘Q²>Q>r h¡…

(A) {‘Q²>Q>r H$m Q>o³gMa

(B) dbwB© {‘Q²>Q>r Q>o³gMa

(C) bhaXma ñWmH¥$Vr

(D) Cnamo³V g^r
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082. The main unit of integrated Rural Development

programmes is:

(A) Family (B) Village

(C) Blocks (D) District

083. In photosynthesis, oxygen comes from

(A) Carbon dioxide

(B) Water

(C) Both carbon dioxide and water

(D) None of these

084. The plants whose morphological characters are

same are called as -

(A) Morphology (B) Physiology

(C) Mimicry (D) None of these

085. Plants store their extra carbohydrate in the form of -

(A) Lipid (B) Starch

(C) Fibre (D) Protein

086. In  plants, 80-90 per cent absorption occur by-

(A) Active absorption

(B) Diffusion

(C) Passive absorption

(D) None of these

087. Cactus is the form of modified-

(A) Flower (B) Leaf

(C) Stem (D) Root

088. In cell division, crossing over occurs at -

(A) Pachytene stage	 (B)	 Zygotene stage

(C) Leptotene stage	 (D)	 Diplotene stage

082. EH$sH¥$V J«m‘rU {dH$mg H$m¶©H«$‘ H$m ‘w»¶ BH$mB© h¡…

(A) n[adma (B) Jm±d

(C) IÊS> {dH$mg (D) {Obm

083. ’$moQ>mo{gpÝW{gg ‘| Am³grOZ AmVr h¡

(A) H$m~®ZS>mB® Am³gmBS> go

(B) nmZr go

(C) XmoZmo§ H$m~®ZS>mB® Am³gmBS> Am¡a nmZr go

(D) BZ‘o§ go H$moB® Zht

084. {OZ nm¡Ymo§ H$s ~mô¶ AmH$maH$s¶ g‘mZ hmoVr h¡ CZH$mo

H$hVo h¡

(A) ‘ma’$mobmoOr (B) {’${O¶mobmoOr

(C) ZH$bMr (D) BZ‘o§ go H$moB® Zht

085. nm¡Yo AnZm A{V[a³V H$m~m©ohmB®S´>oQ> {H$g én ‘| O‘m H$aVo h¢

(A) {b{nS> (B) ñQ>mM®

(C) ’$mB~a (D) àmoQ>rZ

086. nm¡Yo ‘| 80-90 à{VeV AdemofU hmoVm h¡ :

(A) gH«$s¶ AdemofU

(B) {S>â¶yOZ

(C) AgH«$s¶ AdemofU

(D) BZ‘o go H$moB® Zhr§

087. ZmJ’$Zr ¶m H¡$H$Q>e namd{V®H$ ê$n h¡

(A) ’y$b H$m (B) nÎmr H$m

(C) VZm H$m (D) O‹S> H$m

088. gob ~§Q>dmam ‘| H«$mqgJ Amoda nhþ±MmVr h¡ :

(A) n¡MoQ>rZo ñQ>oO (B) OmBJmoQ>oZ ñQ>oO

(C) {bnQ>moQ>oZo ñQ>oO (D) {S>nbmoQ>Zo ñQ>oO
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089. ‘mBQ>mo{Q>H$ gob ~§Q>dmam hmoVm h¡ :

(A) ñn‘® gob (B) ~mS>r gob

(C) Amodm gob (D) BZ‘o§ go H$moB® Zht

090. {‘¶mo{Q>H$ gob ~§Q>dmam hmoVm h¡ :

(A) ~mS>r gob (B) ñn‘© gob

(C) Amodm gob (D) XmoZmo§ (B) Am¡a (C)

091. XÿY àmoQ>rZ H$hbmVm h¡ :

(A) ½byH$mog (B) b¡³Q>mog

(C) J¡bm³Q>mog (D) ’«$H$Q>moO

092. {dQ>m{‘Z S>r H$s H$‘r go hmoVm h¡ :

(A) [aHo$Q²>g (B) ñH$madr

(C) EZm{‘¶m (D) BZ‘o§ go H$moB® Zht

093. ham a§J nm¡Ymo ‘| hmoVm h¡

(A) EZW«mo{’$b go

(B) bmBgmonrZo go

(C) ³bmoamo{’$b go

(D) H$mamoQ>rZo go

094. [a‘moQ> gopÝg¨J ‘| hao nm¡Ym| H$m a§J B‘o{OZar na H¡$gm

{XIVm h¡ :

(A) nrbm (B) Zrbm

(C) bmb (D) H$mbm

095. nm¡Ym| ‘| g~go A{YH$ ’$moQ>mo {gÝWo{gg hmoVm h¡ :

(A) bmb go (B) nrbm go

(C) ~¢JZr go (D) hao go

089. The mitotic cell division occurs in -

(A) Sperm cells (B) Body cells

(C) Ova cells (D) None of these

090. The meiotic cell division occurs in-

(A) Body cells (B) Sperm cells

(C) Ova cells (D) Both (B) and (C)

091. The milk protein is called as

(A) Glucose (B) Lactose

(C) Galactose (D) Fructose

092. The vitamin D deficiency causes

(A) Rickets (B) Scurvy

(C) Anaemia (D) None of these

093. The green colour of plants is due to

(A) Xanthophyll

(B) Lycopene

(C) Chlorophyll

(D) Carotene

094. In remotes sensing, green plants false colour

composite on imagery is seen as -

(A) Yellow (B) Blue

(C) Red (D) Black

095. In plants, maximum photosynthesis occurs at-

(A) Red (B) Yellow

(C) Violet (D) Green
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096. Global warming is related to

(A) Oxygen

(B) Nitrogen

(C) Carbon dioxide

(D) Water vapours

097. Ozone protect us from -

(A) X rays

(B) Microwaves

(C) UV rays

(D) Gamma rays

098. The green house gases trap the-

(A) Short wave rays

(B) Medium wave rays

(C) Long wave rays

(D) None of these

099. In eucaryotes, dark reaction occurs in

(A) Mitochondria

(B) Ribosomes

(C) Cytoplasm

(D) Golgi complex

100. Hill reaction is a part of -

(A) Respiration

(B) Cell division

(C) Photosynthesis

(D) None of these

096. ½bmo~b ~m{‘ªJ gå~Õ h¡ :

(A) Am³grOZ go

(B) ZmBQ´>moOZ go

(C) H$m~©ZS>mB© Am³gmBS> go

(D) dmQ>a dona go

097. AmoOmoZ h‘mar ajm H$aVm h¡ :

(A) E³g-{H$aUm| go

(B) ‘mBH«$modod go

(C) namd¢JUr {H$aUm| go

(D) Jm‘m {H$aUm| go

098. J«rZ hmCg J¡g amoH$Vr h¡ :

(A) eyú‘ Va§Jo

(B) ‘Ü¶ Va§Jo

(C) XrK© Va§Jo

(D) BZ‘o§ go H$moB® Zht

099. ¶yH$m[a¶moQ²>g ‘| S>mH$© [aE³eZ hmoVm h¡

(A) {‘Q>moMmoZ{S>Om

(B) [a~mogmo‘g

(C) gmBQ>mo ßbmí‘

(D) JmoJbr H$månbo³g

100. {hb [aEH$eZ ^mJ h¡

(A) [ag{naoeZ

(B) gob {S>drOZ

(C) àH$me g§íbofU

(D) BZ‘o§ go H$moB® Zht
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AGRICULTURAL ENGINEERING AND STATISTICS

101. {‘Q²>Q>r nbQ>Zo dmbo ¶§Ì ‘| ’«$mJ H$s e³b hmoVr h¡&

(A) {VH$moZmH$ma

(B) Am¶VmH$ma

(C) dJm©H$ma

(D) H$moB© {ZpíMV ê$n Zht

102. Xoer hb Ho$ ey Am¡a ~m‹S>r Ho$ ~rM H$m H$moU {ZåZ a|O ‘|

hmoVm h¡?

(A) 160° – 180°

(B) 145° – 150°

(C) 116° – 160°

(D) 60° – 80°

103. EH$ ~¡b AnZo eara Ho$ dOZ Ho$ {ZåZ à{VeV ‘| qIMdm

CËnÝZ H$aVm h¡?

(A) 12 -13 à{VeV (B) 10-12 à{VeV

(C) 16-18 à{VeV (D) 18-20 à{VeV

104. {‘Q>²Q>r nbQ>Zo dmbo hb H$m ’$mb {ZåZ YmVw H$m ~Zm

hmoVm h¡&

(A) {MëS> H$mñQ> Am¶aZ

(B) H$mñQ> Am¶aZ

(C) ñQ>rb

(D) hmB© H$m~©Z ñQ>rb

105. {^ÝZ àH$ma Ho$ OwVmB© Ho$ VarHo$ h¢ -

(A) Am‘ Vm¡a OwVmB© H$m VarH$m

(B) g‘mZmÝVa OwVmB© H$m VarH$m

(C) {~Zm OwVmB© H$m VarH$m (Oramo OwVmB© H$m VarH$m)

(D) Cnamo³V g^r

101. The Shape of frog in mould board plow is

(A) Triangular

(B) Rectangular

(C) Square

(D) No difinite shape

102. The inside angle between shoe and body of deshi

plow varies in the range of

(A) 160° – 180°

(B) 145° – 150°

(C) 116° – 160°

(D) 60° – 80°

103. A bullock develops pull equal to its body weight

of

(A) 12 -13 percent	 (B)	 10-12 percent

(C) 16-18 percent (D) 18-20 percent

104. The share of mould board plow is made of -

(A) Chilled cast iron

(B) Cast iron

(C) Steal

(D) High carbon steal

105. Different type of tillage systems are -

(A) Conventional tillage

(B) Horizontal tillage

(C) No Tillage or Zero tillage

(D) All of the above
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106. The objectives of Secondary tillage are -

(A) 	�To Pulverise the soil by cutting the clods
into smaller size.

(B) 	�To cut the residuals/ stabbles of previous
crops and mix it with soil

(C) To make the field surface level

(D) All of the above

107. No tillage is known as -

(A) Direct seeding

(B) Zero tillage seeding

(C) Slot seeding

(D) All of above

108. The steel used for fabricating share of plow, have

carbon percentage as

(A) 0.7-0.8 percent	 (B)	 0.8-1.2 percent

(C) 1.2-2.0 percent	 (D)	 2.0-2.50 percent

109. The outer layer of soft centre steel used for

making mould board has carbon percentage as

(A) 0.5-0.8 percent

(B) 0.8-1.3 percent

(C) 1.0-1.5 percent

(D) 1.45-1.6 percent

110. Compared to M.B. plow a disc plow is more

suitable for -

(A) Highly abrasing soil

(B) Non-scouring soil

(C) Sticky soil

(D) All of the above

106. goHo$ÝS>ar OwVmB© Ho$ CÔoí¶ h¢ -

(A) T>obm| H$mo H$mQ>H$a {‘Q²>Q>r ^wa^war H$aZm&

(B) 	�nhbo ~moB© J¶r ’$gb Ho$ IanVdma d Ry>±R> H$mo$

H$mQ>Zm Am¡a {‘Q²>Q>r ‘| {‘bmZm&

(C) O‘rZ H$s gVh H$mo ~am~a H$aZm &

(D) Cnamo³V g^r

107. {~Zm OmoVmB© (Zmo {Q>boO) H$mo H$hVo h¢?

(A) grYo ~wdmB© H$aZm

(B) {~Zm OwVmB© ~wdmB© H$aZm

(C) ñbmQ> ~wdmB©

(D) Cnamo³V g^r

108. ’$mb Ho$ ~ZmZo dmbo BñnmV ‘| H$m~©Z H$s ‘mÌm {ZåZ

à{VeV hmoVr h¡

(A) 0.7-0.8 à{VeV	 (B)	 0.8-1.2 à{VeV

(C) 1.2-2.0 à{VeV	 (D)	 2.0-2.50 à{VeV

109. ‘moëS> ~moS>© ~ZmZo ‘| à¶w³V gmâQ> goÝQ>a ñQ>rb Ho$ ~mhar

naV ‘| H$m~©Z {ZåZ à{VeV ‘| hmoVm h¡ -

(A) 0.5-0.8 à{VeV

(B) 0.8-1.3 à{VeV

(C) 1.0-1.5 à{VeV

(D) 1.45-1.6 à{VeV

110. ‘moëS> ~moS>© hb H$s VwbZm ‘| VdoXma hb Á¶mXm Cn¶moJr

hmoVm h¡-

(A) Á¶mXm {Kgmd dmbr {‘Q²>Q>r ‘|

(B) ZmZ ñH$md[a¨J {‘Q²>Q>r ‘§o

(C) {MnH$Zo dmbr {‘Q²>Q>r ‘|

(D) Cnamo³V g^r ‘|
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111. The size of mould board plow is 20 cm, depth

of operation is 10 cm and speed of operation is

1.5 km. per hour. Determine the area covered in

8 hrs.

(A) 0.5 hectare

(B) 0.24 hectare

(C) 0.3 hectare

(D) 0.4 hectare

112. If unit draft of mould board plow of

Q. No. 111 is 0.6 kg/cm2, then draft of plow

will be -

(A) 100 kg (B) 110 kg

(C) 120 kg (D) 130 kg

113. A bullock driven plow is operated at speed of

2.5 km/hrs. The width of plow is 12 cm and depth

of operation is 8cm. Time requires to plow one

hectare will be -

(A) 33.33 hrs

(B) 23.33 hrs

(C) 30.33 hrs

(D) 40.33 hrs

114. The uniformity of coverage in chemical spraying

is determined by -

(A) Type of Nozzle

(B) Nozzle spacing

(C) Boom height

(D) All of the above

111. EH$ {‘Q²>Q>r nbQ>Zo dmbo hb H$s Mm¡‹S>mB© 20 g|.‘r h¡ Am¡a

10 g|.‘r. H$s JhamB© na Mb ahm h¡ Am¡a BgH$mo 1.5

{H$‘r. à{V K§Q>o H$s Mmb go Mbm¶m Om ahm h¡& Vmo 8 K§Q>o

‘| {H$VZo joÌ’$b H$s OwVmB© H$aoJm&

(A) 0.5 ho³Q>a

(B) 0.24 ho³Q>a

(C) 0.3 ho³Q>a

(D) 0.4 ho³Q>a

112. àíZ g§. - 111 Ho$ {‘Q²>Q>r nbQ>Zo dmbo hb Ho$ ‘moëS>

~moS>© hb H$m BH$mB© qIMdm 0.6 {H$.J«m. à{V go.‘r.

ñ³dm¶a h¡& Vmo Bg hb H$m qIMmd hmoJm-

(A) 100 {H$J«m (B) 110 {H$J«m

(C) 120 {H$J«m (D) 130 {H$J«m

113. ~¡bm| go hb 2.5 {H$.‘r. à{V K§Q>o H$s J{V go Mbm¶m

Om ahm h¡, hb H$s Mm¡‹S>mB© 12 go.‘r. h¡ Am¡a JhamB© 8

go.‘r. h¡& EH$ ho³Q>a H$s OwVmB© ‘| g‘¶ bJoJm-

(A) 33.33 K§Q>o

(B) 23.33 K§Q>o

(C) 30.33 K§Q>o

(D) 40.33 K§Q>o

114. Ho${‘H$b {N>‹S>H$md {ZåZ H$aUm| go EH$ g‘mZ hmoVm h¡&

(A) Zm{Ob H$m àH$ma

(B) Zm{Ob H$s Amng ‘| Xÿar

(C) ~y‘ H$s D±$MmB©

(D) Cnamo³V g^r
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115. Slat type of share is used in -

(A) Normal soil

(B) Sandy soil

(C) Sticky soil

(D) In all of above

116. Higher depth of harrow is obtained by -

(A) By increasing the gang angle

(B) 	�By adding dead weight to the frame of

harrow

(C) By lowering the hitch point

(D) All of the above

117. Factors which influence the draft of the harrow -

(A) Condition of soil

(B) Amount of trash in the soil

(C) Moisture content of soil

(D) All of the above

118. The width of spike tooth harrow is 1 m and speed

of operation is 3 km/hrs. How many acres can be

covered in 8 hrs.

(A) 6 acres (B) 5 acres

(C) 8 acres (D) 7 acres

119. The number of spikes are 40 and each spikes

given 0.8 kg resistance. Speed of operation is

3 km/hrs what would be h.p (Horse power)

required to pull the harrow

(A) 0.45 hp (B) 0.35 hp

(C) 0.55 hp (D) 0.25 hp

115. ñboQ> {H$ñ‘ H$m ’$mb H$m‘ ‘o§ bm¶m OmVm h¡,

(A) àmH¥${VH$ O‘rZ ‘|

(B) ~bwB© O‘rZ ‘|

(C) {Mn{Mnr O‘rZ ‘|

(D) Cnamo³V g^r ‘|

116. h¡amo H$s JhamB© ~‹T>mB© OmVr h¡

(A) J¢J H$m H$moU ~‹T>mZo go

(B) h¡amo Ho$ ’«o$‘ na dOZ aI H$a

(C) {hM ßdm§BQ> H$mo ZrMm H$aHo$

(D) Cnamo³V g^r VarHo$ go

117. h¡amo H$m qIMmd à^m{dV hmoVm h¡ -

(A) {‘Q²>Q>r H$s Xem go

(B) {‘Q²>Q>r ‘o§ IanVdma H$s ‘mÌm H$s CnpñW{V go

(C) {‘Q²>Q>r ‘| Z‘r H$s ‘mÌm go

(D) Cnamo³V g^r H$maUm| go

118. Iy±Q>rXma h¡amo H$s Mm¡‹S>mB© 1 ‘rQ>a h¡ Am¡a ¶h 3 {H$.‘r.

H$s J{V go Mbm¶m Om ahm h¡& 8 K§Q>o ‘| {H$VZm EH$‹S> H$s

OwVmB© H$aoJm&

(A) 6 EH$‹S> (B) 5 EH$‹S>

(C) 8 EH$‹S> (D) 7 EH$‹S>

119. ¶{X Iy§Q>r¶m| H$s g§»¶m 40 h¡ Am¡a àË¶oH$ Iy§Q>r H$m

qIMmd 0.8 {H$. J«m. h¡ Am¡a ¶h 3 {H$.‘r. H$s J{V go

Mbm¶m Om ahm h¡& Vmo h¡amo Ho$ MbmZo ‘| {H$VZo hmg©nmda

H$s Amdí¶H$Vm n‹S>oJr -

(A) 0.45 hm.nm. (B) 0.35 hm.nm.

(C) 0.55 hm.nm. (D) 0.25 hm.nm.
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120. The disk of disk harrows are generally made of -

(A) Cast iron

(B) Spring steel

(C) High grade heat treated steel

(D) None of the above

121. The working depth of animal drawn spike tooth

harrow is -

(A) 5 cm

(B) 10 cm

(C) 15 cm

(D) None of the above

122. After harrowing roller is used for -

(A) Crushing the clods

(B) Smoothing the surface

(C) Preventing the loss of soil moisture

(D) All of the above

123. The seed rate in fluted roller type seed drill is

adjusted by -

(A) Varying the exposure length of flutes

(B) 	�Reducing or increasing the peripheral speed

of the roller

(C) Reducing or increasing the number of flutes

(D) All of the above

124. In maize plater the seed metering device is used -

(A) Fluted roller

(B) Internal double run type

(C) Inclined plate with clarifier

(D) None of these

120. {S>ñH$ h¡amo H$s {S>ñH|$ ~Zm¶r OmVr h¢ -

(A) H$mñQ> Am¶aZ H$s

(B) pñà¨J ñQ>rb H$s

(C) hmB©J«oS> hrQ> Q´>rQ>oS> ñQ>rb go

(D) Cnamo³V ‘| go H$moB© Zht

121. ~¡bm| go MbZo dmbm Iy§Q>rXma h¡amo H$s Jham¶r hmoVr h¡ -

(A) 5 go.‘r.

(B) 10 go.‘r.

(C) 15 go.‘r.

(D) Cnamo³V ‘| go H$moB© Zht

122. h¡amoB§J Ho$ ~mX amoba H$m à¶moJ hmoVm h¡ -

(A) T>obm| H$mo Vmo‹S>Zo Ho$ {bE

(B) ^y{‘ H$s gVh H$mo {MH$Zm H$aZo Ho$ {b¶o

(C) ^y{‘ go Z‘r H$s ‘mÌm H$s H$‘r H$mo ~MmZo Ho$ {b¶o

(D) Cnamo³V g^r

123. âbyQ>oS> amoba erS> {S´>b ‘| ~rO H$s ‘mÌm g‘m¶mo{OV H$s

OmVr h¡&

(A) 	�âbyQ> H$s bå~mB© Omo ~rO {JamVr h¡ CgH$mo H$‘ ¶m

Á¶mXm H$aHo$

(B) amoba H$s no[a’o$ab J{V H$‘ ¶m Á¶mXm H$aHo$

(C) ßbyQ> H$s g§»¶m H$‘ ¶m Á¶mXm H$aHo$

(D) Cnamo³V g^r

124. ‘³H$m ~moZo H$s ‘erZ ‘| ~rO ~moZo Ho$ {b¶o à¶moJ H$s

OmVr h¡ -

(A) âbwQ>oS> amoba

(B) B§Q>aZb S>~wb ’$sS>aZ

(C) {VaN>r ßboQ> ³boar’$m¶a Ho$ gmW

(D) Cnamo³V H$moB© Zht
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125. If the size of a seed drill is 13 × 20 cm. Then its

nominal width will be -

(A) 200 cm (B) 2.6 m

(C) 250 mm (D) 230 cm

126. The rotary weeder is used for weeding of -

(A) Broad casted wheat crop

(B) Broad casted paddy crop

(C) Transplated paddy crop in line

(D) None of the above

127. Longer and narrow blade Khurpi is used for weed

control in -

(A) Vegetable cultivation

(B) Broad casted cereal crop

(C) Floricluture

(D) All of the above

128. Wire loop type threshing cylinder is used for -

(A) Threshing rice crop

(B) Threshing wheat crop

(C) Threshing pulse crop

(D) Threshing millet crop

129. Olpad Thresher is used for threshing

(A) Wheat crop

(B) Barley crop

(C) Gram Crop

(D) All of the above

125. ¶{X grS>{S´>b H$m gmBO (Zmn) 13 × 20 go.‘r. h¡ Vmo

BgH$s Mm¡‹S>mB© hmoJr&

(A) 200 go.‘r. (B) 2.6 ‘rQ>a

(C) 250 {‘.‘r. (D) 230 go.‘r.

126. IanVdma H$mo IoV go {ZH$mbZo Ho$ {b¶o amoQ>ardrS>a H$mo

{ZåZ Xem ‘| H$m‘ ‘| bmVo h¢ -

(A) {µN>‹S>H$dm {d{Y go ~mo¶r J¶r Johÿ° ‘|

(B) {µN>‹S>H$dm {d{Y go ~mo¶r J¶r YmZ H$s ’$gb ‘|

(C) bmBZ ‘| bJm¶r J¶r YmZ H$s ’$gb ‘§o

(D) Cnamo³V ‘| go H$moB© Zht

127. bå~r Am¡a nVbr (Z¡amo ãboS>) Iwanr H$mo IanVdma H$s

{ZamB© H$aZo Ho$ {b¶o H$m‘ ‘| bmVo h¢-

(A) gãOr H$s IoVr ‘|

(B) {µN>‹S>H$dm {d{Y go ~moB© J¶r ’$gb ‘|

(C) ’y$bm| H$s IoVr ‘|

(D) Cnamo³V g^r ‘|

128. dm¶a byn Vah H$m ‘‹S>mB© {g{bÝS>a H$m‘ AmVm h¡ -

(A) YmZ H$s ‘‹S>mB© Ho$ {b¶o

(B) Johÿ§ H$s ‘‹S>mB© Ho$ {b¶o

(C) XbhZ H$s ’$gb H$s ‘‹S>mB© Ho$ {b¶o

(D) Ádma ~mOao H$s ‘‹S>mB© Ho$ {b¶o

129. AmbnS> W«oga ‘‹S>mB© H$aZo Ho$ H$m‘ AmVm h¡&

(A) Johÿ§ H$s ’$gb

(B) Om¡ H$s ’$gb

(C) MZo H$s ’$gb

(D) Cnamo³V g^r
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130. Winnowar is used for -

(A) Threshing rice crop

(B) Threashing pulse crop

(C) Separating grain from threshed crop

(D) None of these

131. The worm in manually operated chaft cutter is

used for -

(A) To transmit power from main shaft

(B) 	�To provide variation is length of cut of

fodder

(C) Imparts motion to feed rollers

(D) All of the above

132. The length of curved blade of manually operated

chaft cutter is in the range of -

(A) 80-100 cm (B) 90-110 cm

(C) 100-150 cm (D) 120-160 cm

133. Pump requires excessive power because of

(A) Speed too high

(B) Head lower than rating

(C) Total head higher than designed

(D) All of the above

134. Deep well turbine pump is used to lift water from-

(A) 10 ft water land

(B) 15 ft water land

(C) More than 20 ft water level

(D) All of the above

130. {dZmoAa H$m à¶moJ hmoVm h¡&

(A) YmZ H$s ‘‹S>mB© Ho$ {b¶o

(B) XbhZ H$s ‘‹S>mB© Ho$ {b¶o

(C) ‘‹S>mB© H$s J¶r ’$gb go XmZm AbJ H$aZo Ho$ {b¶o

(D) Cnamo³V ‘| go H$moB© Zht

131. ‘mZd M{bV Hw$Q²>Q>r H$mQ>Zo H$s ‘erZ ‘| d‘© H$m H$m‘

hmoVm h¡ -

(A) ‘w»¶ e¡âQ> go ep³V XoZm

(B) Mmao H$mo H$mQ>Zo dmbr bå~mB© ‘| ~Xbmd

(C) 	�Mmam H$mo AmJo ~‹T>mZo dmbo amoba H$mo ep³V àXmZ

H$aZo H$m H$m‘

(D) Cnamo³V g^r H$m‘

132. ‘mZd M{bO Hw$Q²>Q>r H$mQ>Zo dmbr Mmam ‘erZ ‘| bJo

{VaN>o ãboS> H$s bå~mB© {ZåZ a|O ‘| hmoVr h¡&

(A) 80-100 go.‘r. (B) 90-110 go.‘r.

(C) 100-150 go.‘r.	 (D)	 120-160 go.‘r.

133. nån A{YH$ ep³V boVm h¡ ³¶m|{H$ -

(A) Á¶mXm J{V h¡

(B) aoqQ>J go hoS> H$‘ h¡

(C) gånyU© hoS> {S>OmBZ {H$¶o hþE hoS> go Á¶mXm h¡

(D) Cnamo³V g^r H$maU

134. Jhao Hw§$E dmbm Q>admBZ nån (S>rn dob Q>admBZ nån)

nmZr CR>mVm h¡ -

(A) 10 {’$Q> nmZr H$s gVh go

(B) 15 {’$Q> nmZr H$s gVh go

(C) 20 {’$Q> go Á¶mXm nmZr H$s gVh go

(D) Cnamo³V g^r
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135. Junk value of a machine is its value -

(A) At the end of useful life

(B) During its useful life

(C) Both (A) or (B)

(D) None of the above

136. Fixed cost of tractor includes

(A) Depreciation

(B) Insurance and Taxes

(C) Shelter charges

(D) All of the above

137. Measure of central tendency are

(A) Arithmetic mean

(B) Geometric mean

(C) Median

(D) All of the above

138. Weighted mean is determined

(A) w
wx
R
R

(B) n
xR

(C) f
f x
R

R

(D) None of the above

135. EH$ ‘erZ H$s O§H$ H$s‘V (Hy$‹S>m H$s‘V) Cg ‘erZ H$s

H$s‘V hmoVr h¡

(A) ‘erZ H$m à¶moJ g‘mßV hmoZo Ho$ ~mX H$s H$s‘V

(B) à¶moJ ‘| AmVo hþE ‘erZ H$s H$s‘V

(C) XmoZm| (A) Am¡a (B)

(D) Cnamo³V ‘| go H$moB© Zht

136. Q´>¡³Q>a H$s {’$³ñS> H$s‘V {ZH$mbZo ‘| {ZåZ H$s‘Vm| H$mo

Omo‹S>Vo h¢ -

(A) ömg ({S>{à{g¶ogZ)

(B) ~r‘m Am¡a Q>¡³g

(C) ‘erZ aIZo H$s OJh (eoëQ>a H$m MmO©)

(D) Cnamo³V g^r

137. Ho$ÝÐr¶ àd¥{V H$s ‘mno§ {ZåZ{b{IV h¢ -

(A) g‘mÝVa ‘mÜ¶

(B) JwUmoËVa ‘mÜ¶

(C) ‘mpÜ¶H$m

(D) Cnamo³V g^r

138. ^m[aV ‘mÜ¶ kmV {H$¶m OmVm h¡ -

(A) w
wx
R
R

(B) n
xR

(C) f
f x
R

R

(D) Cnamo³V ‘| go H$moB© Zht
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139. The production from 5 hectare and 3 hectare land

is 18 and 20 quintal respectively. The weighted

mean will be -

(A) 17.75 q/ha

(B) 18.75 q/ha

(C) 19.75 q/ha

(D) 20.75 q/ha

140. If A and B are two values then, various means

will be

(A) Arithmetic mean =  a b
2
+

(B) Geometric mean = ab

(C) Harmonic mean = a b
ab2
+

(D) All of the above

141. Measure of dispersion is measured by -

(A) Mean Deviation

(B) Standard Deviation

(C) Quartile Deviation

(D) All of the above

142. Coefficient of variation is defined by -

(A) 100Arithmetic mean
Standard deviation

#

(B) 100Arithmetic mean
Standard deviation

#
2_ i

(C) Arithmetic mean
Standard deviation 2
d n

(D) None of the above

139. 5 ho³Q>o¶a Am¡a 3 ho³Q>o¶a joÌ’$b H$s CnO H«$‘e… 18

Am¡a 20 Hw§$Vb h¡& CgH$m ^m[aV ‘mÜ¶ hmoJm&

(A) 17.75 Hw§$Vb / ho.

(B) 18.75 Hw§$Vb / ho.

(C) 19.75 Hw§$Vb / ho.

(D) 20.75 Hw§$Vb / ho.

140. ¶{X E Am¡a ~r Xmo am{e¶m§ h¢ Vmo BZH$m {d{^ÝZ ‘mÜ¶

hmoJm-

(A) g‘mÝVa ‘mÜ¶ = a b
2
+

(B) JwUmoÎma ‘mÜ¶ = ab

(C) hamË‘H$ ‘mÜ¶ = a b
ab2
+

(D) Cnamo³V g^r

141. {djonU H$mo {ZåZ {d{Y¶m| go ‘mnm OmVm h¡ -

(A) ‘mÜ¶ {dMbZ

(B) ‘mZH$ {dMbZ

(C) MVwW©H$ {dMbZ

(D) Cnamo³V g^r

142. {dMaU JwUm§H$ {ZåZ g‘rH$aU go n[a^m{fV hmoVm h¡ -

(A) g‘mÝVa ‘mÜ¶
‘mZH$ {dMbZ 100#

(B) g‘mÝVa ‘mÜ¶
‘mZH$ {dMbZ

100#
2_ i

(C) g‘mÝVa ‘mÜ¶
‘mZH$ {dMbZ 2
d n

(D) Cnamo³V ‘| H$moB© Zht
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143. Quartiles deviation of 3rd quartile is determined

by -

(A)	
( )N
4
1+

  th observation if N is odd

(B)	
( )N
4

3 1+
 th observation if N is odd

(C)	
( )N
4

2 1+
 th observation if N is odd

(D) None of the above

144. From following data the third quartile is -

Data - 16, 9, 8, 11, 18, 5, 27, 25, 23, 26,11

(A) 25 (B) 23

(C) 18 (D) 27

145. If the mean and standard deviation are 35 and 21

respectively then coefficient of variation will be-

(A) 60 (B) 50

(C) 70 (D) 80

146. From the following observation the mean will be-

Class 30-40 40-50 50-60 60-70 70-80 80-90 90-100

Freq-
uency 3 7 12 15 8 3 2

(A) 72 (B) 82

(C) 62 (D) 52

147. From Q. No. 146 the variance (σ2) will be -

(A) 201 (B) 301

(C) 400 (D) 180

143. MVwW©H$ {dMbZ H$m V¥Vr¶ MVwW©H$ {ZåZ VarHo$ go kmV

{H$¶m OmVm h¡ -

(A)	
( )N
4
1+

 dm§ nX ¶{X N {df‘> h¡

(B)	
( )N
4

3 1+
 dm§ nX ¶{X N {df‘> h¡

(C)	
( )N
4

2 1+
 dm§ nX ¶{X N {df‘ h¡

(D) Cnamo³V g^r

144. {ZåZ Am§H$‹S>mo§ go V¥Vr¶ MVwW©H$ hmoJm -

Am§H$‹S>o - 16, 9, 8, 11, 18, 5, 27, 25, 23, 26,11

(A) 25 (B) 23

(C) 18 (D) 27

145. ¶{X ‘mÜ¶ Am¡a ‘mZH$ {dMbZ H«$‘e… 35 Am¡a 21 h¢ Vmo

{dMaU JwUm§H$ hmoJm-

(A) 60 (B) 50

(C) 70 (D) 80

146. {ZåZ {X¶o hþE S>oQ>m H$m ‘mÜ¶ hmoJm-

dJ© 30-40 40-50 50-60 60-70 70-80 80-90 90-100

~maå~m-
aVm

3 7 12 15 8 3 2

(A) 72 (B) 82

(C) 62 (D) 52

147. àíZ g§- 146 H$m àgaU hmoJm&

(A) 201 (B) 301

(C) 400 (D) 180
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148. The population standard deviation of following
data will be -
Class 30-40 40-50 50-60 60-70 70-80 80-90 90-100

Freq-
uency 3 7 12 15 8 3 2

(A) 15.18 (B) 14.18

(C) 15 (D) 16

149. The Population standard deviation of various

type of data is determined by -

(A)	
x

. . ( )
( – )

S D N
x 2

v =
/

(B)	
x

. . ( )
( – )

,S D N
f x

N f
2

v = =
/

/

(C) S.D.(σ) = (A)and (B) Both

(D) None of the above

150. If the sum of frequency is 10 and sum of

x( – )f x f x2 2
= a k/  is 810 then population

standard deviation will be -

(A) 9

(B) 10

(C) 8

(D) 7

148. {ZåZ {X¶o hþE S>oQ>m H$m ‘mZH$ {dMbZ hmoJm-

dJ© 30-40 40-50 50-60 60-70 70-80 80-90 90-100

~maå~m-
aVm

3 7 12 15 8 3 2

(A) 15.18 (B) 14.18

(C) 15 (D) 16

149. ‘mZH$ {dMbZ {^ÝZ àH$ma Ho$ S>oQ>m go kmV {H$¶m OmVm

h¡-

(A)	
x

. . ( )
( – )

S D N
x 2

v =
/

(B)	
x

. . ( )
( – )

,S D N
f x

N f
2

v = =
/

/

(C) S.D.(σ) = (A) Am¡a (B) XmoZm|

(D) Cnamo³V ‘| go H$moB© Zht

150. ¶{X ~maå~maVm H$m ¶moJ 10 Am¡a 

x( – )f x f x2 2
= a k/  H$m ¶moJ 810 hmo Vmo ‘mZH$ 

{dMbZ hmoJm -

(A) 9

(B) 10

(C) 8

(D) 7
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